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using Microsoft.VisualStudio.TestTools.UnitTesting;
using TestCommon;

namespace All.Tests
{
[DeploymentItem("TestData")]
[TestClass()]
public class GradedTests
{
[TestMethod (), Timeout(2000)]
public void SolveTest_QiBinaryTreeTraversals()
{
RunTest (new Q1BinaryTreeTraversals("TD1"));

}

[TestMethod(), Timeout(1500)]
public void SolveTest_Q2IsItBST()
{

RunTest (new Q2IsItBST("TD2"));
}

[TestMethod(), Timeout (1500)]
public void SolveTest_Q3IsItBSTHard()
{

RunTest (new Q3IsItBSTHard("TD3"));
}

[TestMethod(), Timeout(10000)]
// change the timeout to 6000 if you could solve it
public void SolveTest_Q4SetWithRangeSums ()
{
RunTest (new Q4SetWithRangeSums("TD4"));
}

[TestMethod (), Timeout(6000)]
public void SolveTest_Q5Rope ()
{

RunTest (new Q5Rope("TD5"));
}

public static void RunTest(Processor p)
{
TestTools.RunLocalTest("A11", p.Process, p.TestDataName,
p.-Verifier, VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);
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using System;
using TestCommon;

namespace All

{
public class Q1BinaryTreeTraversals : Processor
{
public Q1BinaryTreeTraversals(string testDataName): base(testDataName){}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], long[][]>)Solve);
public long[][] Solve(long[]l[] nodes)
{
throw new NotImplementedException();
}
}
}
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using System;
using TestCommon;

namespace All

{
public class Qi1BinaryTreeTraversals : Processor
{
public Q1BinaryTreeTraversals(string testDataName): base(testDataName){}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][]l, long[][]>)Solve);
public long[][] Solve(long[][] nodes)
{
throw new NotImplementedException();
}
}
}
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using System;
using TestCommon;

namespace All

{
public class Q2IsItBST : Processor
{
public Q2IsItBST(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][]l, bool>)Solve);
public bool Solve(long[][] nodes)
{
throw new NotImplementedException();
}
}
}
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“+ 1” means add((i + x) mod M)

“-1” means del((i + x) mod M)

“? 1” means find((i + x) mod M)

“s 1 1” means sum((l + x) mod M, (r + x) mod M)
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using System;
using TestCommon;

namespace All

{

public class Q4SetWithRangeSums : Processor

{
public Q4SetWithRangeSums(string testDataName) : base(testDataName)

{
CommandDict = new Dictionary<char, Func<string, string>>()
{
['+'] = Add,
['-'] = Del,
['?7'] = Find,
['s'] = Sum
I
1

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<string[], string[]>)Solve);

public readonly Dictionary<char, Func<string, string>> CommandDict;
public const long M = 1_000_000_001;

public long X = 0;

public string[] Solve(string[] lines)

¢ throw new NotImplementedException();

}

private long Convert(long i)
=>1i=(@G+X)%M
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using System;
using TestCommon;

namespace All

{
public class Q3IsItBSTHard : Processor
{
public Q3IsItBSTHard(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], bool>)Solve);
public bool Solve(long[][] nodes)
{
throw new NotImplementedException();
}
}
}
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